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Bai thi s6 1: PUNG DPE PIEM ROI
Question 1: What number should replace the question mark ?
67 +? =230
a/ 153 b/ 133 c/ 163 d/ 143
Question 2: What would result is the greatest number?
a/ 1450 + 7245 b/ They are the same c/ 7245 + 1450  d/ 7250 + 1445
Question 3:
25 minutes 35 seconds + 16 minutes 29 seconds = x minutes y seconds.
The smallest value of y is...
Question 4: If x : 4 =958 then x = ....
Question5: Ifm-n=270 andnx 6 =2610 thenm = ...
A —-695 B — 265 C-165 D - 705
Question 6: Calculate: 8642 x 3 + 7532 = ...
Question 7: Calculate: 3243 x 3 = ...

A —9629 B —9972 C-9729 D —-9279
Question 8: 5250g + 1750g = .....kg. The missing number s .........
A-7 B-70 C-100 D-10

Question 9: 1/2 of the number of squares in the figure below is.........

Question 10: 3 years 10 months = ... months.

Bai thi s6 2: 12 CON GIAP

Question 1: i century = .......... years .... The missing number is.......
A-30 B-25 C-20 D-15

Question 2: What could you add to 35 to make 60?

Answer: This number s ...............

Question 3: A girl can play 66 notes every minute on average. She can play ........
notes in 20 minutes.
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Question 4: 15 boxes of chocolate candies have 420 candies in the total. How
many candies are there in each box?

Answer: .......... candies.

Question 5: Angela is learning to play the violin. She practices 50 minutes a day
on Tuesday and Thursday. On Saturday she practices for one and a half hours.
How much times per week Angela spend practicing violin?

Answer: .......... minutes.

Question 6: There are ........... six - digit numbers.

Question 7: The sum of these numbers:

12 21 ©O9
33 98 79
22 100 67

Question 8: The last digit of the product: 1 x 3 x5 X ....... X999is ...........
Question 9:

27 minutes 54 seconds + 16 minutes 23 seconds = x minutes y seconds.
The smallest value of y is...
Question 10: The pages of a book are numbered consecutively from 1 through
120. There are ............ digits are there in this numbering.

Bai thi s6 3 - LEO DOC
Cau s6 1: How many triangles are there?
A-6 B-3 C-5 D-4

Cau s6 2: What is the sum of all digits in final result when
I+11+111+...+11...11 (10 digit 1s) is computed?
Answer: The sum of all digits in final result is....

Caus63: If6A4=6+4+2+0and9A3=9+7+5.
Find the value of x if x A 5 = 25.

Answer: The value of x 1s......
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Cau sb 4: This figure has ........ triangles

A
AR
VN

Cau sb 5: The average of 46; 25 and 37 is: ............

A-38 B-35 Cc-31 D-36
Cau sb 6: If A, B and C are even — numbers such that A < B < C and
A + B + C = 20, then the greatest possible value of C is............
CAu sb 7: The least 5 — digit number is.....
Cau sb 8: When the sum of x and 24 is divided by 4, the result is 11. Then x = ...
Cau sb 9: Ifx + 293 + 57 =500 — 100 then X = ...
Cau s6 10: The average of two numbers is 13. One of these numbers is the least 2
— digit number. Them smaller number is ....

A-10 B-3 C-16 D-26
Cau sb 11: The average of all 2 — digit numbers which are divisible by 6 is.......
Cau s 12: Find the greatest 2-digit number, given that this number is 4 times the
sum of its digits.
Answer: This numberiis .......
Cau sb 13: Which greatest number can you make using all digits: 7; 8; 0; 1; 6; 2?

A —-876120 B — 876210 C -867210 D - 862710
Cau sb 14: If A is twenty more than sixty — nine, then A = ...,
Cau sb 15: The average of 15, 22 and 23 is.....
Cau sb 16: If the average of 4 and two other number is 5 then the sum of those
two number is...........
Cau so 17: Calculate: 76 x 44 + 36 x 77 + 644 x 11 = ...
Cau sb 18: The mass of a beaker with 6 identical marbles is 530g. The mass of
the same beaker with 11 identical marbles is 680g. What is the mass of the empty
beaker? What is the total mass of 8 identical marbles?
Answer: The total mass 8 identical marbles is...g
Cau s6 19: Calculate: 5+9+ 13+ ... + 997 + 1001 = ...
Cau sb 20: If 84932 < 8x236 < 85362 then x = ...

A-T7 B-4 C-5 D-6
Causé 21: Ifa=15then (a—11)x (a—13)x (a—15) x (a—17)=....
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Cau sb 22: Maria starts reading a book at 11:00 a.m. At 5:00 pm, she finishes to
cook dinner. How long does she read?

A — 3 hours B — 5 hours C -6 hours D — 4 hours
Cau sé 23: Find the number 18" terms in the sequence: 2; 4; 6; 8; 10; ...
Cau sb 24: This figure has............ rectangles

Cau sb 25: If the greatest 4 — digit number is divided by 33 then the result is. ..
CAu sb 26: If the average of x, y and 15 is 23 then the average of x and y is. ..
Cau sb 27: In the following figure, how many rectangles can you see.

1 2
4 3

Cau s6 28: In his English class, Harry has 5 tests. His scores is shown in the table
below.

Test 1 Test 2 Test 3 Test 4 Test5
78 67 79 86 75

What is his average score on the tests?

A-T75 B-79 C-77 D-76

Cau s6 29: Which number is greater: 889 or 898?

Cau s6 30: How many hundreds are there in 64700? There are ....hundreds
Cau sb 31: How many 2-digit numbers are there from 11 to 277?

Answer: There are ...... numbers.

Cau sb 32: Calculate: 85 + 47 —32 = ...

Cau s6 33: Find x such that x + 215 = 432

A — 647 B — 657 C - 227 D -217
Cau sb 34: Which of following numbers is the smallest?

A —52478 B — 48257 C—-47258 D —-52748
Cau s6 35: Fill the suitable number in the blank:

There are ....... numbers between 122 and 199 that end with 0.
Cau sb 36: Which of following numbers is odd?

A -1100 B — 1032 C-1112 D —2221

Cau sb 37: The average of two numbers is 234 and the smaller number is 106.
What is the larger number?
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Answer: The larger numberis ......
Cau sb 38: Look at this clock

- =—e D -
Cau sb 39: The average of the natural numbers from 1 to 19 is........

A-12 B-9 C-11 D-10
Cau sb 40: The greatest 4 — distinct digit number s ..........
Cau sb 41: The least 5 — distinct digit number is ..........
Cau s6 42: There are 120 seats in a row. What is the fewest number of seats that
must be occupied at first so the next person to be seated must sit next to
someone?

A-140 B-119 C-60 D-30
Cau sb 43: Find the greatest 3-digit number such that when this number is divided
by 135, the remainder is 9.
Answer: This number is........
Cau sb 44: Today is September 2™. Four days ago is...........

A — August 30" B — August 28" C — August 29"

D — August 27"

Cau sb6 45: 25 boxes of chocolate candies have 250 candies in the total. How
many candies are there in each box?
CAu s0 46: If43>25+ x> 41thenx = ....
CAu s6 47: Fill >; <;=: 9696 .......... 9000 + 600 + 99
Cau sb 48: Two watermelons cost as much as 8 apples. Mariane bought 3
watermelons and 8 apples for $40. How much more does a watermelon cost than
an apple?
Cau sb 49: White the greatest 4 — digit number. That number is. .............
Cau s6 50: Peter reads 930 pages of books on March. What is the average number
of pages that he read each day?

A-30 B -310 C-93 D-31
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Cau s6 51: If x + 15 =47 then x = ...

Cau s6 52: The average of 51, 64 and z is 47.

Traloi:z=....

Cau sé 53: Mary reads three books every month. She is busy and reads only one
book on Jun. On September, she takes a break but does not read any books. What
Is the number of books that Mary read in this year?

Answer: Anna read ...books in this year.
Cau s6 54: If the average of three distinct numbers is 15 then the greatest possible
value for one of these numbers is.........
Cau $6 55: If m = 7 then 2000 x 3 +2000 x m = ...
A —2000 B — 9000 C —20000 D - 200000
Cau sb 56: If half of the product of 8 and 9 is two times of A then A = ...
Cau s6 57: If the average of x, x + 1and x + 8 is 15 then x = ....
CAu s6 58: Let M = 9999 ...99 (M is wrote by 59 digits). What is the smallest
number add to M to make a number that is divisible by 45?
Answer: The smallest number is ....
Cau sb 59: If 3 bicycles cost $90 then the cost of 135 bicycles is $..........
Cau s6 60: Which of following months has 30 days?
A —July B — August C — October D - April

Cung cép tai liéu luyén thi Toan Tiéng Anh — Toan Quéc Té (Kangaroo, Imas, Sasmo....)
HO tro gidi dap | Co Trang — 0948.228.325



Hé théng phat trién Toan 1Q Viét Nam
Co6 Trang — 0948.228.325

*k*k

TOAN IQ.com

, o PE SO 4
Bai 1 - BUC TRANH Bl AN
1 N 1 1 5 1 13 4 7 1 N 1
3'5 4 611 20 ' 10 5 4
1 N 1 1 N 7 1 4 1 N 1 1 N 1
4 14 4 10 2 3 4 2 20
1 N 1 7 2 N 1 1 1 1 N 1 N 1
3 10 10 3 4 2 15 2 5 4
3 3 3 N 3 3 N 3 1 1 N 1
4 7 10 20 4 5 2 5 4
The number of The number of The greatest The greatest
fractions % such fractions % such fractions % such fractions % such
thata+b=2015 |thata+b=2014 |thata+b=2015 |thata-b=2014

Bai 2— PUNG DPE PIEM ROI
Question 1: John played a total of 30 soccer games during the months of June,
July and August. He played 9 games in June and 10 in July. Which month did he
play the most games?

a/ May b/ June ¢/ August
Question 2: What fraction of the fence is orange?

d/ July

(Write the fraction in the simplest form.)
ANSWET: ..ovvveeiiiiieenn,

Question 3: 14 boxes of chocolate candies have 294 candies in the total. How
many candies are there in each box?

Answer: There are ...candies in each box.

Question 4: A football team has $140 to buy balls. Once ball costs $8. What is the
largest number of balls the team can buy?

Answer: ............. balls.

Question 5: The sum of all 2 — digit numbers which are divisible by 8 is ...
Question 6: Find the next number in the following sequence
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21,24,19,26,17,7, ...
A) 18 B) 19 C)?2 D) 28
Question 7: The number in the center of each box is the result of operations that
use the four numbers in the corners of the same box. Each of the four corner
numbers in a box must be used exactly once. The same set of operations is used
for each box. What number should replace the N?

2 1|3 2 6 2
24 50 N
4 4||l6 4 3 1
A 36 B/ 27 Cl 52 D/ 32

Question 8: When I add a certain number to 278 and multiply the answer by 3, |
get 900. What is the number?

Answer: The number is ....

Question 9: In the following figure, how many rectangles can you see.

Answer: .......... rectangles.

Question 10: The average of all 2 - digit numbers which are divisible by 6 is ...
BAI 3—LEO DOC

Question 1: The 12 digits in a credit card number are to be written in the boxes

9 X 4

Question 2: There are 36 students in a class. % of them score 9 marks, é of them

score 7 marks and the remaining student score 6 on a Math test. How many
students score 6 marks in the class?

Answer: .......

Question 3: Let M =9999 ...99 (M is wrote by 59 digits). What is the smallest
number add to M to make a number that is divisible by 45?

Answer: The smallest numberis ..............
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Question 4: Anna reads three books every month. She is busy and reads only one
book on Jun. On September, she takes a break but does not read any books. What
Is the number of books that Anna read in this year?

Answer: Annaread .......... books in this year.

Question 5: Mary reads four books every month. She is busy and reads only one
book on June. On September and November, she takes a break but does not read
any books. What is the number of books that Mary read in this year?

Answer: Mary read ............. books in this year.

Question 6: Find the next fraction in the sequence below:

12°12'8°20
Question 7: Findy if 7 x (y - 45) =567
Answer: y=.......
Question 8: The birthdays of two sisters are on the same day. The elder sister
is 4 years older than the younger sister. When the sum of their ages reaches 50
years, how old is the younger sister?

(A) 12 (B) 20 (C) 23 (D) 25 (E) 27
Question 9: A shopkeeper had 36 boxes of chocolate bars. In each box, there
were 234 chocolate bars. He repacked all of the chocolate bars into bags of 8 and
sold each bag of the chocolate bars to $9. How much money did he earn from the
sales?

Answer: .......
Question 10: If you triple Amy's age and subtract 16, the result will be the same
as when you double her age and add 8. How old is Amy?

A-18 B-20 C-26 D-24 E-27
Question 11: Anthony is the grandfather of twins. The product of the ages of 3 of
them is 2016. How old is Anthony? (Anthony is younger than 100 years old).

ANSWEr: vevueennee
Question 12:

When M divided by 4 the remainder is 3.

When M divided by 9 the remainder is 8.

When M divided by 36 the remainder is ...

Question 13: 16 biscuit packs weight 4 kilograms. How many grams is the weight
of a biscuit packs?
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Question 14: 27 x 29+ 29 x ... + 46 x 71 = 4600. The missing number is ...
Answer: ............
Question 15: An even number M is divisible by 5 if the last digit of M is ...

Answer: .......

Question 16: Betty has 25 marbles. Andrew has 7 marbles more than Carl. Carl
has 9 marbles less than Betty. How many marbles does Andrew have?

Answer: .......

Question 17: Calculate: 1350 :45= ...

Question 18: Calculate: 3640 : 14 = ...

Question 19: Convert: 4km?=............c.couu.... m’.
Question 20: Find the value of x such that 81420 : x = 345.
Answer: X=.......

Question 21: If X = L thenx = ...
7 63

Question 22: Jane buys 22 candies for three children, Anna, Mary and Peter.
Anna eats twice as many candies as Mary. Peter eats more candies than Mary but
less than Anna. How many candies does Peter eat?

Answer: .......

Question 23: Katie has 300 cakes. She gives 12 of them to each of five her
friends. How many cakes are left over?

Answer: .......

Question 24: One pack of pencils has fifteen pencils. Four other packs have
twenty pencils each. What is the total pencils in these five packs?

Answer: .......

Question 25: The 14 people at a party are 7 couples. Each man shakes hands with
everyone except his own wife. No two women shake hands with each other. What
Is the total number of handshakes among these 14 peoples?

Answer: .......

Question 26: The average of 27 and 69 is... ...........

Question 27: The number of fractions % such that m +n=20161s... ....
Question 28: The pages of a book are consecutively numbered from 1 to N. There
are 636 digits are there in this numbering. The value of N is ... ...

Question 29: The perimeter of a rectangular garden is 120m. Its length is 40m.
Find its width?
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Answer: .......

Question 30: The sum of all 3 - digit numbers that are greater than 156 is...
Answer: .......

Question 31: The sum of all natural numbers that are smaller than 500 and
divisible by 5 is... ......

Question 32: The sum of two numbers is 124 and their difference is 36. What is
the value of the larger number?

Answer: .......

Question 33: The weight of green box is four times the weight of red box. Green
box is 9kg heavier than red box. The weight of green box is .............. kg.
Question 34: There are ............ five - digit numbers.

Question 35: Twenty cups of coffee cost $40. Jane has to pay $....... for thirty six
such cups of coffe.

Question 36: Using each of the digits 2, 3, 5 and 6 exactly once, form two 2 -
digit number. What is the difference between the largest possible product and the
smallest possible product of two such numbers?

Answer: .......

Question 37: Which of following numbers is not divisible by 3?
273, 468, 587, 960.

Answer: .......

Question 38: A boy standing upside down saw in a mirror a girl wearing a shirt

with a number as shown below. What is the actual number on the girl’s shirt?

e

a/ 902 b/ 506 ¢/ 509 d/ 605
Question 39: A Physical lab lasts one hour. What fraction of the lab is completed
35 minutes after it begins?

al 1 b/ — o/~ d/—
Question 40: A store sells three different gift items costing 20 dollars, 40 dollars
and 70 dollars, and three kinds of gift boxes costing 30 dollars, 50 dollars and 80
dollars. Helen buys one gift item and a gift box. How many different values can
her total bill be?

Answer: .............
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Question 41: Anh Vien was one of 18 athletes in the swimming team. They are
numbered from 1 to 18. The sum of the numbers of the other 17 athletes is 155.
What is Anh Vien number?

Answer: .......

Question 42: Joseph choose a whole number and multiplied it by nine. Which of
the following numbers could not be his answer?

a/ 22203 b/ 35361 c/ 1998 d/ 36363
Question 43: One of the following two - digit number is attached at the and of
2016 to make a six - digit number. Which number is attached if six - digit number
is divisible by 3, 4 and 7? Answer: 84

a/ 36 b/ 12 c/ 84 d/ 48
Question 44: Peter is taller than Edward but shorter than Jacob. Charlie is taller
than John but shorter than Peter. Who is the tallest?

a/ Peter b/ Edward ¢/ Jacob d/ John
Question 45: The area of this parallelogram is ...cm®.
Tem
4cm Sem
a/ 20 b/ 48 c/ 35 d/ 28

Question 46: The figure below show four squares of equal size. The shaded part
of each is removed. Of the resulting figures, whole perimeter is equal to the
perimeter of the uncut square?
~ __ _‘
YL — b/ c/ JJ d/

Question 47: The following figures are formed by identical squares. Which figure
has the smallest perimeter?

al o L] o/ @ o/ smbay

Question 48: The total weight of 3 apples is equal to that of 4 bananas, and the
total weight of 5 bananas is equal to that of 6 oranges. How many apples have the
same total weight as 24 oranges? Answer: 15
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a/ 16 b/ 15 c/ 12 d/ 18
Question 49: There are four kids. If we compute the total ages of three of them at
a time, the sums are 21, 24, 30 and 27 respectively. What is the difference in age
between the oldest and the youngers among these four kids?

Answer: .......

Question 50: We want to cut a 28m wire into shorter wires of length 4m. We can

only cut one piece of stick at a time. How many cuts are required? Answer: 6
a4 b/ 7 c/5 d/ 6

Question 51: What fraction matches the following image? Answer: 2/5

al b/ 2 c/ 2 dr 2
2 5 3

Question 52: What is the value ofg — g? Answer: 1/6
al = b/ 2 E d/ 2
6 6 6 6
Question 53: What is this fraction in the simplest terms? % ? Answer: 3/4
al 2 b/ 2 c/2 d/2
3 4 4 9
Question 54: What number must be replace the  in the mathematical sentence
7

8
= = _-to make a correct sentence?

D al 35 b/ 36 c/ 55 d/ 56
Question 55: When 76 is divisible by a number, the remainder is 6. Which of
following can not the value of that number? Answer: 5

al 7 b/ 5 c/ 10 d/ 14
Question 56: Which list of numbers is ordered from least to greatest?
3 213
12°3°5°%
dimvs Yevim o Yovmn Yoims
Question 57: Which of the following lists the fractions g % %;% d = in order

from least to greatest?

1 2 1 _2 _ 4 2
A-<=-<-<=<—= b/-<-<=<—=<=
9 "9 "8 "7 16 7
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C/s<i<i<—<= di<o<i<ics
Question 58: Which of the statements below is not always true?

a/ One of any three consecutive positive integers must be divisible by 3.

b/ The sum of several even numbers is an even number.

¢/ The sum of several odd numbers is an odd number.

d/ The sum of an odd number and an even number is an odd number.
Question 59: A pillow costs 20 dollars. Sophia has to pay ......... dollar for 12 such

pillows.
Question 60: How many hours are in % of two days?

ANSWer: .......... hours.
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HUONG DAN GIAI
PE SO 3
Bai thi s6 1 - PUNG PE PIEM ROI
Question 1: What number should replace the question mark?
S6 nao ¢ thé thay vao ddau héi cham?? = 230 — 67 = 163
67 +? =230
a/ 153 b/ 133 c/ 163 d/ 143
Question 2: What would result is the greatest number?

Két qua nao la so [on nhdt?

a/ 1450 + 7245 = 8695 b/ They are the same cdc ddp dn giong nhau
c/ 7245 + 1450 = 8695 d/ 7250 + 1445 = 8695
Question 3:

25 minutes 35 seconds + 16 minutes 29 seconds = X minutes y seconds.
The smallest value of y is...
25 phat 35 giay + 16 phat 29 giay = x phut y giay
Gia tri nho nhdt ciia y la...
Hudng dan
Gia tri nho nhat cuay: 35 + 29 — 60 = 4
Answer: 4
Question 4: Ifx:4=958thenx=....
Dién 3832
Question 5: Ifm-n=270 andn x 6 =2610 thenm = ...
Néum—-n=270van x6=2610thim= ...
A —695 B — 265 C-165 D - 705
Hudng dan
Taco:n=2610:6 =435
m =270 + 435 =705

Chon D - 705
Question 6: Calculate Tinh: 8642 x 3 + 7532 = ...
Dién 33458
Question 7: Calculate Tinh: 3243 x3 = ...
A —9629 B —9972 C-9729 D - 9279
Chon C - 9729

Question 8: 5250g + 1750g = .....kg. The missing number is .........
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A-T7 B-70 C-100 D-10
Chon A-7
Question 9: 1/2 of the number of squares in the figure below is.........

1/2 s6 6 vudng duwdi day la: ...

Anwers: 7
Question 10: 3 years 10 months = ... months.
3 nam 10 thang = ... thang
Huéng ddn
3 ndm 10 thang = 3 x 12 thang + 10 thang = 36 thang + 10 thang = 46 thang
Anwers: 46

BAIl 2-12 CON GIAP

Question 1: i century = .......... years .... The missing number is.......
~thé ki = ......nam. S6 con thiéu la.... 100 : 4 = 25

A-30 B-25 C-20 D-15
Chon B

Question 2: What could you add to 35 to make 60?
Answer: This number is ...............

S6 nao cong voi 35 thi duoc 60?

Huéng dan:

S6 cong véi 35 duge 60 1a: 60 — 35 = 25
Question 3: A girl can play 66 notes every minute on average. She can play ........
notes in 20 minutes.

Mot ¢6 gdi 6 thé choi trung binh 66 nét nhac méi phit. Cé dy cé thé choi ...........
nét trong 20 phiit.
Huéng dan:

S6 nbt nhac ¢o ay co thé choi trong 20 phut 1a: 66 x 20 = 1320 (ndt)
Question 4: 15 boxes of chocolate candies have 420 candies in the total. How
many candies are there in each box?

Answer: .......... candies.

15 hop keo s6 co la thi co téng 420 cai keo. Vay moi hop co bao nhiéu cdi keo?
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Hudng dan:

Moi hop c6 sd keo 1a: 420 : 15 =28 (cai)
Dién: 28
Question 5: Angela is learning to play the violin. She practices 50 minutes a day
on Tuesday and Thursday. On Saturday she practices for one and a half hours.
How much times per week Angela spend practicing violin?
Answer: .......... minutes.

Angela dang hoc choi violin. C6 dy luyén tdp 50 phiit mét ngay vao thir Ba va thir
Nam. Vo thir Bay, ¢é dy tdp trong 1,5 gio. Héi méi tudn Angela danh bao nhiéu
thoi gian dé tdp violin?
Hudng dan:

Poi: 1,5 gio = 90 phut

Thoi gian 1 tudn Angela dung dé tap violin 1a: 50 + 50 + 90 = 190 (phut)
Dién: 190
Question 6: There are ........... six - digit numbers.
C6 ... 900000........ 56 ¢ 6 chit s6.
Question 7: The sum of these numbers:

12 21 88
33 08 79
22 100 &7

Téng cia cdc sé nay ld: ......(12+ 88) + (21 + 79) + (67 + 33) +100+ (98 + 22)
=100+ 100 + 100 + 100 + 120 =520
Question 8: The last digit of the product: 1 X 3 x5 X ....... X999 1is ...
Chit 56 cudi ciing ciia tich: 1 X3X5 X ....... x999 la: ........... 5
Huong dan
Day la mot day s6 1&, ma moi s6 1é nhan véi 5 déu ¢o tan cung la 5.

Question 9:
27 minutes 54 seconds + 16 minutes 23 seconds = x minutes y seconds.
The smallest value of y is...

27 phut 54 giay + 16 phut 23 gidy = x phut y giay.

Gia tri nhd nhdt ciia y la...
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Hudng dan
Ta c6 gié tri nho nhit caa y 1a: 54 + 23 — 60 = 17
Answer: 17
Question 10: The pages of a book are numbered consecutively from 1 through
120. There are ............ digits are there in this numbering.
Cdc trang ciia mdt cudn sach dwoc danh sé lién tiép tiv 1 dén 120. C6 ... chir

s6 dwgc sir dung dé danh so.
Huéng dan:
Tir trang 1 dén trang 9 dung: 1 x 9 =9 (chit s6)
Tir trang 10 dén trang 90 dung: 90 x 2 = 180 (chit s0)
Tir trang 100 dén trang 120 dung: 21 x 3 = 63 (chir sO)
Vay sb chit sb phai dung 13: 9 + 180 + 63 = 252 (chit sd)
Dién 252
Bai thi s 3 - LEO DOC
Cau sb 1: How many triangles are there?
C0 bao nhiéu hinh tam giac?
A-6 B-3 C-5 D-4

Chon C
Cau s6 2: What is the sum of all digits in final result when
Tong cua tat ca cac chiz so ¢ két qua cusi cting khi phép tinh:
1+11+111+...+11...11 (10 digits 1) is computed (hoan thanh)?
Answer: The sum of all digits in final result is....
Hudéng dan

Ta c0:
A=1+11+111+...+11...11 (10 chirsd 1)
9XA=9+99+999 + ...+99...99 (10 chi s6 9)
9xA=(10-1) + (100 —1) + (1000 — 1) + .... +(100...00 —1)

10cs O
=10+ 100+ 1000+ ...+ 100...00-1x10
10c¢s 0
=11..10-10=11..100
10cs 1 9c¢s1
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A=11..100:9=

9c¢s1

A = 1234567900

Téng cac chirsbcta Ala: 1+2+3+4+5+6+7+9 +0+0=37
bién 37
Causb3: If6 A4d=6+4+2+0and9A3=9+7+5.
NeU6A4=6+4+2+0VA9A3=9+7+5.
Find the value of X if x A 5 =25..
Tim gia tri cua x biét x A 5 = 25.

Answer: The value of x is......
Hudng dan
Quy luat: S6 bén trai 1a sé bat dau, cac sé sau s& giam dan 2 don vi. S bén
phai 1a s6 s6 hang.
Vay: XAS5=X+X-2+X-4+Xx-6+Xx-8 =25
X+X-2+X-4+Xx-6+Xx-8=25

5xx -20=25
S5 XX =45
X =45:5
X =9
pién 9
CAu sb 4: This figure has ........ triangles hinh nay co.....hinh tam giac
ye
\\ \iizl \g{ /

Y .
w4
VAN

Cé 5 hinh tam gidc don la: (1), (2), (3), (4), (5)
Co6 1 hinh tam gi&c ghép 4 hinh la: (1, 2, 3, 4)
Vay hinh trén c6 tat ca 6 hinh tam giac

Pién 6

CAu sb 5: The average of 46; 25 and 37 is: ............

Trung binh céng cua 46; 25va 37 la... ......

A-38 B-35 C-31 D-36
Hudéng dan

Trung binh céng cua 46; 25va 37 la: (46 + 25+ 37) : 3 =36
Chon D - 36
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Cau s6 6: If A, B and C are even — numbers such that A < B < C and
A + B + C = 20, then the greatest possible value of C is............
Néu A, B, C lacac sé chanma A<B < CvaA + B+ C = 20, thi gié tri Ién nhdt
¢ thé ciia Cla..........
Hudng dan
Dé C 16n nhat thi A, B phai nho nhit cé thé.
Vay A = 0; B = 2 suy ra gia tri 16n nhat c6 thé caa C 13: 20 -2 -0 = 18
Dién 18
CAu sb 7: The least 5 — digit number is S6 nhé nhat ¢ 5 chiz sé la. ...
Dién 10000
Cau sb 8: When the sum of x and 24 is divided by 4, the result is 11. Then x = ...
Tong cia x va 24 chia cho 4, két qud la 11. Thix = ...
Hudng dan
Tong ciaxvaz24la: 11 x4 =44
Giatricuaxla: 44 -24 =20
Dién 20
Cau s6 9: If x + 293 + 57 =500 — 100 then X =400-57-293 =50
Pién 50
Cau s6 10: The average of two numbers is 13. One of these numbers is the least 2

— digit number. Them smaller number is ....

Trung binh cuia hai so 1a 13. M4t trong hai sé 1a sé6 nho nhdt c6 2 chir sé.
Sé bé la: ...

A-10 B-3 C-16 D-26
Huéng dan

S6 nho nhét ¢6 2 chir sb 1a: 10
Céch 1:

Vi 10 < 13 nén 10 1a s6 bé.
Céch 2: Tong hai s6 1a: 13 x 2 =26

S6 con lai la: 26 — 10 = 16

Vi 10 < 16 nén s bé 12 10.
Chon A-10
Cau sb 11: The average of all 2 — digit numbers which are divisible by 6 is......
Trung binh cua tdt ca cac sé ¢ hai chir s6 ma sé dé chia hét cho 6 la....
Hudéng dan
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Céac s6 c0 hai chit s6 chia hét cho 6 1a: 12; 18:; ....; 96

Trung binh cong cua chung la: (96 + 12) : 2 =54
Dién 54
Cau sb6 12:  Find the greatest 2-digit number, given that this number is 4 times
the sum of its digits.
Tim sé lén nhdt c6 2 chir sé biét rang sé dé gap 4 lan tong cac chir so cua no.
Answer: This number is Sé dé Ia........
Hudng dan

Goisbécantimla: ab (0 <a<10;0< b <10)

Theo dé bai ta cd: ab =4 x (a+b)

10xa+b=4xa+4xb

6xa=3xDb
2xa=Db
Ta c6 bang gia tri sau
a 1 2 3 4
b 2 4 6 8
ab 12 24 36 48
Vil12 <24 <36<48nénab =48

bien 48
Cau sb 13: Which greatest number can you make using all digits: 7; 8; 0; 1; 6; 2?
SO I6n nhat c6 thé tao bdi tir tat ca céc chiz so: 7; 8; 0; 1; 6; 2
A 876120 B - 876210 C-867210 D -862710
Chon B
Cau sb 14: If A is twenty more than sixty — nine, then A = ...,
Néu A la 20 hon 69, thi A = ...
Pién 89
CAu sb 15: The average of 15, 22 and 23 is.....
Trung binh céng cua 15, 22 va 23 la: .........(15+ 22+ 23) : 3=20
bién 20
Cau s6 16: If the average of 4 and two other number is 5 then the sum of those
two number is...........
Néu trung binh céng cia 4 va 2 sé khac 1a 5 thi tong cua hai sé khdc do Ia....
Hudng dan
Tong ba sb 1a: 5x 3 =15
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Téng hai s6 khac 1a: 15— 4 =11
bién 11
Cau sb 17: Calculate tinh: 76 x 44 + 36 x 77 + 644 x 11
Hudng dan
76X44+36x77+644x11=76x4x11+36x7x11+644x11
=11 x (76 x4 + 36 x 7 + 644) = 11 x (304 + 252+ 644) = 11 x 1200=
13200
Pién 13200
Cau sb 18: The mass of a beaker with 6 identical marbles is 530g. The mass of
the same beaker with 11 identical marbles is 680g. What is the mass of the empty
beaker? What is the total mass of 8 identical marbles?
Answer: The total mass 8 identical marbles is...g
Khéi lirong cua mét cai coc véi 6 vien bi gisng nhau 1a 530g. Khoi liwong ciia mét
cai coc giong nhw thé véi 11 vién bi giong nhau 1a 680g. Héi khéi lirong cuia cac
coc rong 1a bao nhiéu?
Hudéng dan
Khéi lwong cua 5 vién bi giéng nhau 1a: 680 — 530 = 150 (g)
Khdi lwong cua 1 vién bi 1a: 150 : 5 = 30 (g)
Khoi lugng cua 8 vién bi la: 30 x 8 = 240 (g)
Answer: 240
Cau s6 19: Calculate tinh: 5+ 9+ 13+ ... + 997 + 1001 = ...
Hudng dan
5+9+13+...+997 + 1001
= (1001 +5) x [(1001 -5): 4 +1]: 2 = 125750
Dién 125750
Cau s6 20: If 84932 < 8x236 < 85362 then x = ...

A-7 B-4 C-5 D-6
ChonC-5
Causd21:Ifa=15then (a—11) x (a—13)x (a—15) x (a—17)=.....
Hudéng dan

Khia=15thia—-15=0.
Moi s6 nhan vai 0 déu bang 0 nén tich trén co gia tri bang 0
bién 0

Cung cép tai liéu luyén thi Toan Tiéng Anh — Toan Quéc Té (Kangaroo, Imas, Sasmo....) 22
HO tro gidi dap | Co Trang — 0948.228.325



Hé théng phat trién Toan IQ Viét Nam
Co6 Trang — 0948.228.325 T A
9 0AN IQ.com

Cau sb 22: Maria starts reading a book at 11:00 a.m. At 5:00 p.m, she finishes to
cook dinner. How long does she read?
Maria bdt dau doc mét cuén sach lic 11 gio sang. Luc 5 gio chiéu, cd dy ket thirc
dé ndu bia téi. Hoi ¢d dy da doc trong bao 1au?

A — 3 hours B — 5 hours C -6 hours D — 4 hours
Hudng dan

Doi: 5 gio chiéu = 17 gio

Thoi gian 6 Ay da doc sach 1a: 17 — 11 = 6 (gio)
Chon C — 6 hours
Cau s6 23: Find the number 18" terms in the sequence: 2; 4; 6; 8; 10; ...
Tim sé thiz 18 cua day: 2; 4; 6; 8; 10; ...
Hudng dan

Quy luat: M&i s bang 2 nhan vaéi s thi tu caa nd

Sothir 18 1a: 2 x 18 = 36

Dién 36
CAau s6 24: This figure has............ rectangles Hinh nay co.....hinh chir nhat
1 2 3 4
S
Hudng dan

C6 5 hinh chit nhat don: (1), (2), (3), (4), (5)
C0 4 hinh chir nhat ghép 2 hinh: (1,2), (2,3), (3, 4), (4, 5)
C0 2 hinh chir nhat ghép 3 hinh: (1, 2, 3), (2, 3, 4)
C0 1 hinh chir nhat ghép 4 hinh: (1, 2, 3, 4)
Vay hinh nay c6 tit ca: 5+ 4 + 2 + 1 = 12 (hinh)
bién 12
Cau sd 25: If the greatest 4 — digit number is divided by 33 then the result is. ..
Néu sé 16n nhdt 6 4 chiz s6 chia cho 33 thi dwoc Két qud la: .......
Huéng dan
S6 16N nhat ¢6 4 chir sé 1a: 9999
Két qua 1a: 9999 : 33 = 303
bién 303
Cau sb 26: If the average of x, y and 15 is 23 then the average of x and y is. ..
Néu trung binh cia X, y va 15 1a 23 thi trung binh cia x va y ld....
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Hudng dan
Tong cua 3 56 1a: 23 x 3 =69
Tong cia x vay 1a: 69 — 15 = 54
Trung binh ciax vay la: 54 : 2 =27
bién 27
Cau sé 27: In the following figure, how many rectangles can you see.
Tam dich: Trong hinh duwoi, €6 bao nhiéu hinh chiz nhgt?

1 2
| 3

Huéng dan

C6 6 hinh chir nhat don 1a: (1), (2), (3), (4), (5), (6)

CO 7 hinh chit nhat ghép 2 hinh chir nhat la: (1;2), (2;3), (4;5), (5;6), (1;4),
(2;5), (3:6).

C0 2 hinh chir nhat ghép 3 hinh chir nhat la: (1;2;3), (4;5;6)

C0 2 hinh chir nhat ghép 4 hinh chir nhat 1a: (1; 2; 5; 4), (2; 3; 6; 5)

C06 1 hinh chir nhat ghép 6 hinh chit nhat 1a: (1; 2; 3; 4; 5; 6)

Vay tong s6 hinh chit nhat 13: 6 + 7 + 2 + 2 + 1 = 18 (hinh)
Answer: 18
Cau s 28: In his Englishs class, Harry has 5 tests. His scores is shown in the table
below.
Trong lép Tiéng anh cia Harry c6 5 bai kiém tra. Biém cua anh dy diwroc thé hién
trong bang duoi day:

Test 1 Test 2 Test 3 Test 4 Test5

78 67 79 86 75

What is his average score on the tests?
Trung binh méi bai kiém tra anh dy dwoc bao nhiéu diém?
Huéng dan

MJi bai kiém tra anh 4y duoc trung binh s diém la:

(78 + 67+ 79 + 86 + 75) : 5 =77 (diém)

A-75 B-79 C-77 D-76
Chon C-77
Cau s6 29: Which number is greater: Sé nao lén hon 889 or 898?
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Dién 898
Cau s6 30: How many hundreds are there in 647002 There are ....hundreds

C6 bao nhiéu tram trong sé 64700. C6 ... ... tram

Dién 647

Cau sé 31: How many 2-digit numbers are there from 11 to 27?
C6 bao nhiéu sé ¢6 hai chir sé tir 11 dén 27

Answer: There are ...... numbers.
bién 17
Cau sb 32: Calculate: 85 + 47 —32 = ...
Pién 100
Cau sb 33: Find x such that x + 215 = 432
A — 647 B — 657 C-—227 D - 217
Chon D — 217

Cau sd 34: Which of following numbers is the smallest?
Sé nao nhé nhat trong cac so duwdi day?

A —52478 B — 48257 C—-47258 D -52748
Chon C — 47258
Cau s6 35: Fill the suitable number in the blank:

There are ....... numbers between 122 and 199 that end with 0.
Tim sé thich hgp dién vao ché trong:

C6 .... s6 nam gizza 122 va 199 ma co tdn cung bang 0.

Hudng dan

Cac s6 nam giira 122 va 199 ma c6 tan cung bang 0 1a: 130; 140; 150; 160;
170; 180; 190.

Vay c6 7 sb thoa man

Answer: 7

Cau sb 36: Which of following numbers is odd? Sé nao dwéi day la sé |é
A —-1100 B - 1032 C-1112 D - 2221

Chon D

Cau sb 37: The average of two numbers is 234 and the smaller number is 106.
What is the larger number?

Trung binh cua hai sé 1a 234 va sé bé 1a 106. Tim s¢ I6n

Answer: The larger number is S6 Ién la......

Hudéng dan
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Tong hai s6 1a: 234 x 2 = 468
S6 16n 1a: 468 — 106 = 362
Dién 362
Cau sb 38: Look at this clock Nhin vao dong ho

o

What time will it be after one hours and 15 minutes? Sau 1 gio' 15 phat niza sé la
may gio?

=) ¢  €))
A - \-;/ B - \—/

Chon D
Cau s 39: The average of the natural numbers from 1 to 19 is........
Trung binh céng cua cac so tw nhién tir I dén 19 la: ...
A-12 B-9 C-11 D-10
Huréng dan
CA&c so tw nhién tir 7 d@én 19 1a day sé tw nhién cich deéu
Trung binh céng cua chang la: (19 +1) : 2=10
Chon D -10
Cau s 40: The greatest 4 — distinct digit number s ..........
S6 lén nhdt ¢6 4 chir s6 khdc nhau la... ...
Pién 9876
Cau sd 41: The least 5 — distinct digit number is ..........
S6 nhé nhdt ¢6 5 chiz s6 khdc nhau la...
Dién 10234
Cau s6 42: There are 120 seats in a row. What is the fewest number of seats that
must be occupied at first so the next person to be seated must sit next to
someone?
C6 120 ché ngoi trong mét hang. Sé lirong ghé it nhat phdi dwoc chiém lic dau 1a
bao nhiéu dé nguoi tiép theo dwot ngoi phdi ngéi Canh ai dé?
A-40 B-119 C-60 D-30
Hudng dan
Goi X 1a mot ngudi ngdi, O 1a mot chd trong
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M6 hinh chd ngdi s6 ghé lac dau chiém it nhat ma nguoi tiép theo ngdi phai

ngdi canh ai 4o la:

0X00X00XO...... 0OX00XO.

Ta nhém 3 ghé thanh 1 nhém duoc:

[0XO0] [0XO] [0XO]......[0X0] [0XO].

S6 s6 ghé lac dau chiém 1a: 120 : 3 = 40 (ghé)
Chon A -40
Cau sb 43: Find the greatest 3-digit number such that when this number is divided
by 135, the remainder is 9.
Tim sé 16n nhdt cé 3 chi sé biét rang khi chia sé dé cho 135 thi dwoc $6 du la 9
Answer: This number is Sé dé la........
Hudng dan

S6 nho nhat ¢6 3 chir s6 chia cho 135 du 9 1a: 135 + 9 = 144

Céc s6 ¢6 3 chit s6 chia cho 135 du 9 1a: 144; 279; 414; 549; 684; 819; 954.

Vay s6 d6 1a 954
Dién 954
Cau sb 44: Today is September 2". Four days ago is...........
Hom nay la ngay 2 thang 9. 4 ngay truoc la.....
A — August 30" B — August 28"  C— August29" D — August 27"
Chon C — August 29"
Cau s 45: 25 boxes of chocolate candies have 250 candies in the total. How many
candies are there in each box?
25 hop keo s6 ¢d la c6 tdt ca 250 cai keo. Héi méi hép c6 bao nhiéu cai keo?

Hudéng dan
M3bi hop ¢6 s6 keo 1a: 250 : 25 = 10 (céi)

bién 10
Cau s6 46: If43>25+ x> 41 thenx = ...,
Hudéng dan
25+x =42

X =42 - 25

x=17
bién 17
Cau s6 47: Fill >; <;=: 9696 .......... 9000 + 600 + 99 = 9699
bién <
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Cau sb 48: Two watermelons cost as much as 8 apples. Mariane bought 3
watermelons and 8 apples for $40. How much more does a watermelon cost than
an apple?
Hai qud duwa hdu phi bang 8 qud tdo. Marianne mua 3 qud dua hdu va 8 qud téo
hét 40$. Hoi mét qud diea hdu nhiéu hon I quda to bao nhiéu tién?
Hudng dan

Ta c6: 2 dua hiu = 8 tho

3 dua hau + 8 tio = 40$

Suy ra: 3 dua hau + 2 dwa hau = 40$

5 qua dua hau co gia 1a 40$

Giatién 1 qua dua hau 1a: 40 : 5 = 8 (3$)

Gia tién 3 qua dua hau 1a: 8 x 3 =24 ($)

Gia tién 8 qua tao 13; 40 — 24 = 16 ($)

Giatién 1 qua téo 1a: 16 : 8 =2 (3)

Vay 1 qua dua hau nhiéu hon 1 qua téo sé tién 1a: 8 —2 = 6 (3$)
Answer: 6
Cau sd 49: White the greatest 4 — digit number. That number is. .............
Viét s6 lon nhdt c6 4 chir s6. S6 dé la... ... ...
Dién 9999
Cau s6 50: Peter reads 930 pages of books on March. What is the average number
of pages that he read each day?
Peter doc 930 trang sach trong thang 3. Héi trung binh méi ngay anh dy doc bao
nhiéu trang?

A-30 B -310 C-93 D-31
Huéng dan
Thang 3 ¢6 31 ngay.

Trung binh mdi ngay Peter doc sb trang séch 1a: 930 : 31 = 30 (trang)
Chon A - 30
Causd 51: Ifx + 15 =47 then x = ....47 - 15 =32
Dién 32
Cau s6 52: The average of 51, 64 and z is 47. Trung binh cia 51; 64 va z 1 47.
z=...47x3-51-64=26
Pién 26
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Cau sb 53: Mary reads three books every month. She is busy and reads only one
book on Jun. On September, she takes a break but does not read any books. What
Is the number of books that Mary read in this year?
Answer: Mary read ...books in this year.
Tam dich: Mary doc 3 cuén sach méi thang. Co dy bdn va chi doc duwoc 1 cusn
sach trong thang 6. Trong Thang 9, ¢ dy nghi nhung cé dy khéng doc dwoc
quyén sach ndo. Héi mér nam Mary doc duwoc bao nhiéu quyén sach?
Hudéng dan

M6t nam Mary doc duoc s6 sach 1a: (12 —2) x 3+ 1 =31 (quyén)
Answer: 31
Cau s6 54: If the average of three distinct numbers is 15 then the greatest possible
value for one of these numbers is.........
Néu trung binh cia ba sé khac nhau 1a 15 thi gia tri I6n nhdt c6 thé c6 cia mét
trong nhiing sé nay la...............
Huéng dan

Tong basd 1a: 15 x 3 =45

Dé s6 nay 16n nhat c6 thé thi hai sé kia phai nho nhét.

Hai s6 nho nhat 12 0 va 1.

Vay sd I6nnhat cothé 1a: 45— 0—1=44

Dicn 44

Cau s6 55: If m = 7 then 2000 x 3 + 2000 x m = ....2000 x (3 + 7) = 2000 x 10
A — 2000 B — 9000 C — 20000 D - 200000

Chon C

Cau s6 56: If half of the product of 8 and 9 is two times of A then A = ....
Néu mét niratich cua8va9la2lan Athi A = ..
bién 18
Cau s6 57: If the average of x, x + 1 and x + 8 is 15 then x = ...
Néu trung binh céng ciia x, x + 1 vax + 81a 15 thix = ...
Dién 12
Cau s6 58: Let M = 9999 ...99 (M is wrote by 59 digits). What is the smallest
number add to M to make a number that is divisible by 45?
Answer: The smallest number is ....
Cho M = 9999 ....9 (M duwoc viét béi 59 chir s6). Sé nhé nhdt phdi thém vio M dé
tqo thanh mét sé chia hét cho 45?
Hudéng dan
Tac0:99:45=2du9
Mot s6 gom toan chit s6 9 thi lubn chia hét cho 9
Vay phai thém vao sb d6 sb don vi 1a: 45 — 9 = 36 (don vi)
Answer: 36
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Cau sb 59: If 3 bicycles cost $90 then the cost of 135 bicycles is $..........
Néu 3 chiéc xe dap c6 gia 90$ thi 135 chiéc xe dap la.....$
Hudng dan
1 chiéc xe dap c6 gia: 90 : 3 =30 ($)
135 chiéc xe dap c6 gia: 135 x 30 = 4050 ($)
Dién 4050
Cau sé 60: Which of following months has 30 days?
Thang nao dudi day co 30 ngay
A —July B — August C — October D - April
Chon D — April
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PE SO 4
Bai 1 - BUC TRANH Bi AN
1+1 1_7 2+1 1+1_1 1
3' 5 4 10 3 4 3 10 2 15
1,7 111 1,133
410 2 5 4 4 14 4 7
3,3 _11 3.3_13 7
10 20 5 4 4 5 20 10
1 1 1 _ 5 1 1 1 _ 1 1 N 1
273727572 220 2 5 4
The number of fractions % such that The number of fractions % such that
a + b = 2015 = The greatest fractions% a+ b =2014 = The greatest fractions%
such thata - b = 2014 such that a + b = 2015

Bai 2 - PUNG PE PIEM ROI
Question 1: John played a total of 30 soccer games during the months of June,
July and August. He played 9 games in June and 10 in July. Which month did he
play the most games?

a/ May b/ June ¢/ August d/ July
John dd choi tong cong 30 trgn bong da trong thdng 6, 7 va 8. Anh dy da choi 9
trdn trong thang 6 va 10 trdn trong thang 7. Hoi thang nao anh dy choi béng dd
nhiéu nhat?
Hudng dan:

Thang 8 anh 4y choi s6 tran 1a: 30 — 6 — 10 = 14 (tran)

Ta c6: 6 < 10 < 14 nén thang 8 anh iy choi nhiéu nhat
Chon C
Question 2: What fraction of the fence is orange?

Mau cam chiém bao nhiéu phan cua hang rao?
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(Write the fraction in the simplest form.)

ANSWEr: ....ooeeeiirneee. 1/5

Question 3: 14 boxes of chocolate candies have 294 candies in the total. How
many candies are there in each box?

14 hgp keo s6-co-la co téng 294 céi keo. Héi mdi hép co bao nhiéu cai keo?

Answer: There are ...candies in each box.
Hudng dan

M3i hop c6 s6 keo 1a: 294 : 14 = 21 (céi)
Dién 21
Question 4: A football team has $140 to buy balls. Once ball costs $8. What is
the largest number of balls the team can buy?
Answer: .............. balls.
Mot doi béng danh 140 dé dé mua béng. Gid mét qua bong la 8 dd. Hoi s6 heong
bong toi da ma déi cé thé mua la bao nhiéu?
Huéng dan:

Taco:140:8=17du 4

Vay sb bong t6i da ma d6i mua duoc 1a 17 qua.
bién: 17
Question 5: The sum of all 2 — digit numbers which are divisible by 8 is ...
Tong cua tat ca cac sé ¢o 2 chir sé chia hét cho 8 la ...
Huéng dan

Cac s6 c6 2 chir sb chia 8 1a: 16; 24; 32; 40; 48; 56; 64; 72; 80; 88; 96.
Cach1:  Tong can tim la:

16 +24+32+40+48+56 +64+72+80+88+96= 616
Cach 2: Tong cac s6 do 1a: (96 + 16) x [(96 —16) : 8 +1] =112 x 11 : 2 =616
bién 616
Question 6: Find the next number in the following sequence
Tim sé hang tiép theo cua day so sau:
21,24,19,26,17,7?, ...
A)18 B)19 C)2 D)28 E) None of the above (Pdp so khac)

Hudéng dan

Quy luat:
21+3=24
24-5=19
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19+7=26

26-9=17

17+11=28
Chon D

Question 7: The number in the center of each box is the result of operations that
use the four numbers in the corners of the same box. Each of the four corner
numbers in a box must be used exactly once. The same set of operations is used
for each box. What number should replace the N?

S6 chinh giita ciia méi hép la két qua ciia nhitng phép todn sir dung 4 so tai cdc
géc ciia hgp. Méi s6 tai méi goc chi sk dung diing 1 lan. Céc hdp déu sir dung cdc

phép todn giong nhau. Hoi s6 nao thay thé cho chit cdi N?

2 1|3 21 |4 5116 2
24 50 9 N
4 41 |6 41 |1 0] |3 1
A -36 B- 27 C-52 D-32 E — Dap s6 khac
Hudng dan

2+1)x(4+4)=3x8=24
(3+2)x(6+4)=5x10=50
(4+5)x(1+0)=9x1=9
6+2)x(3+1)=8x4=32=N
Chon D
Question 8: When I add a certain number to 278 and multiply the answer by 3, |
get 900. What is the number?
Khi t6i céng thém mét sé vao 278 va nhan két qud dé véi 3 thi t6i dwoc 900. Vay
$6 d6 la s6 nAo?
Answer: The number s ....
Hudéng dan
Sb can tim 1a: 900 : 3 — 278 = 22
Dién 22
Question 9: In the following figure, how many rectangles can you see.
Trong hinh, c6 bao nhiéu hinh ché nhdt ban ¢é thé nhin thay?
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1 -
4 3

Answer: ...... 9....rectangles.
Hudéng dan
C0 4 hinh chir nhat don 1a: (1), (2), (3), (4)
C06 4 hinh chir nhat ghép 2 hinh chir nhat 1a: (1;2), (2;3), (4;3), (1;4)
C06 1 hinh chir nhat ghép 4 hinh chir nhat 1a: (1;2;3;4)
Answer: 9
Question 10: The average of all 2 - digit numbers which are divisible by 6 is ...

Trung binh céng cua tdt cd c&c sé ¢6 2 chi sé chia hét cho 6 la ...
Huéng dan
Céac sb ¢6 2 chit sb chia hét cho 6 1a: 12 18; ....; 96
Trung binh céng caa chang 1a: (96 + 12) : 2 =54
BAI 3—LEO DOC
Question 1: The 12 digits in a credit card number are to be written in the boxes
below. The sum of any three consecutive digits is 16. The value of x is:
12 chir 56 trén mét thé tin dung dwrgc viét trong cdc 6 dudi ddy. Biét tong ciia ba

chit 56 lién tiép bat ky luén la 16. Tinh gid tri cia x:

9 X 4

Huéng din
Céc 6 ¢ s6 thi tu chia cho 3 du 2 luén 14 9
Céac sb & sb thir tu chia hét cho 3 ludn 14 x
Va céc sd & sd thir tu chia cho 3 du 1 luén 1a 4
Vay so con laila: 16 —9—-4=3Hay x =3
Pap so: 3
Question 2: There are 36 students in a class. % of them score 9 marks, § of them

score 7 marks and the remaining student score 6 on a Math test. How many
students score 6 marks in the class?

C06 36 hoc sinh trong mét lop. % s6 hoc sinh dwoc 9 diém, é s6 hoc sinh dwoc 7

diém va sé hoc sinh con lai dirge 6 diém trong mgt bai kiém tra Toan. Héi c6 bao
nhiéu hoc sinh dwoc 6 diém trong 16p?
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Huéng dan
S6 ban duoc diém 9 1a: 36 : 2 = 18 (ban)
S6 hoc sinh dugc 7 diém 13: 36 : 3 = 12 (ban)
S6 hoc sinh dugc diém 6 13: 36 — 18 — 12 = 6 (ban)
Answer: 6
Question 3: Let M =9999 ...99 (M is wrote by 59 digits). What is the smallest

number add to M to make a number that is divisible by 45?

Answer: The smallest number is ....
Cho M = 9999 ....9 (M dwoc viét béi 59 chir s6). S6 nhé nhdt phdi thém vao M dé
tqo thanh mét sé chia hét cho 457
Huéng dan
Tac6:99:45=2du9
Mot s6 gom toan chit s6 9 thi luén chia hét cho 9
Vay phai thém vao s d6 sé don vi 1a: 45 — 9 = 36 (don vi)
Answer: 36
Question 4: Anna reads three books every month. She is busy and reads only one
book on Jun. On September, she takes a break but does not read any books. What
is the number of books that Anna read in this year?
Answer: Anna read ...books in this year.
Anna doc 3 cuon séch mai thang. Co dy bdn va chi doc dwoc 1 cuon sach trong
thang 6. Trong Thang 9, ¢d dy nghi nhung cé dy khéng doc dwot quyén sach nao.
Héi mét nam Anna doc dwoc bao nhiéu quyén sach?
Huéng dan
M6t naim Anna doc duoc s6 sach 1a: (12 —2) x 3+ 1 =31 (quyén)
Answer: 31
Question 5: Mary reads four books every month. She is busy and reads only one
book on June. On September and November, she takes a break but does not read
any books. What is the number of books that Mary read in this year?
Answer: Mary read ...books in this year.
Mary doc 4 cuén sach méi thang. Co dy bdn va chi doc dwoc 1 cuon sach trong
thang 6. Trong Thang 9 va thang 11, ¢ dy nghi nhung cé dy khéng doc dwoc
quyén sach nao. Héi mét nam Anna doc dwoc bao nhiéu quyén sach?
Hudéng dan
Mot nim Anna doc duoc s6 sach 1a: (12 — 3) x 4 + 1 = 37 (quyén)
Answer: 37
Question 6: Find the next fraction in the sequence below:

Tim phdn s6 tiép theo trong ddy sau
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*k*k

Huéng dan

1

1 5 1 _ 1

2 12 12 4x(1+2)

5 3 1 1

12 8 24  4x(1+2+3)

3 7 1 _ 1

8 20 40  4x(1+2+3+4)

Vay: Z—72= —— =1

20 4x(1+2+3+445) 60

n_7 1 _21 1 _20 1
20 60 60 60 60 3

Dap s0:
Question 7: Findy if 7 x (y - 45) =567
Timy biét: 7 x (y — 45) = 567.
Hudng dan
7 X (y — 45) =567
y—45=567:7
y—45=281
y =81+45
y =126
Answer: 126
Question 8: The birthdays of two sisters are on the same day. The elder sister
is 4 years older than the younger sister. When the sum of their ages reaches 50
years, how old is the younger sister?
Ngay sinh cia hai chi em Ia giong nhau. Chj nhiéu hon em 4 tuéi. Khi tong hai
chi em 50 tudi, thi em bao nhiéu tusi?
(A) 12 (B) 20 (C) 23 (D) 25 (E) 27
Hudéng dan
Tuoi em khi d6 1a: (50 — 4) : 2 = 23 (tuoi)
Pap s6: C
Question 9: A shopkeeper had 36 boxes of chocolate bars. In each box, there
were 234 chocolate bars. He repacked all of the chocolate bars into bags of 8 and
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sold each bag of the chocolate bars to $9. How much money did he earn from the
sales?
Mgt chui cira hang 6 36 hdp sd ¢6 la. Trong mai hgp c6 234 thanh s6 ¢ la.
Ong dy g6i lai tdt ca cac thanh sb ¢d la thanh cac tdi, mai tdi ¢d 8 thanh va
ban mai ti 9%. Hoi 6ng dy kiém duwroc bao nhiéu tién tir viéc ban do?
Hudng dan
Tong s thanh sb ¢6 la 6ng ay co 1a: 234 x 36 = 8424 (thanh)
S6 thi 6ng ay chia duoc 1a: 8424 : 8 = 1053 (ti)
S6 tién dng 4y thu duoc 1a: 9 x 1053 = 9477 ($)
Answer: 9477
Question 10: If you triple Amy's age and subtract 16, the result will be the same

as when you double her age and add 8. How old is Amy?

Néu ldy tuéi ciia Amy nhén ba va sau dé trie di 16 thi ta dwoc mét sé bang véi két
quda khi ldy tuéi ciia Amy nhédn hai va céng thém 8. Héi Amy bao nhiéu tui?
A-18 B-20 C-26 D-24 E-—27

Huéng dan
Ta c6 so do
Amy: |------------ |
— . — |
|---: -------- |------------ |-8-|...16.. q
Tuoi cia Amy la: 8 + 16 = 24 (tuoi)
Chon D

Question 11: Anthony is the grandfather of twins. The product of the ages of 3 of
them is 2016. How old is Anthony? (Anthony is younger than 100 years old).
Anthony la éng néi ciia hai bé sinh déi. Tich tuéi cia 3 éng chau la 2016. Hoi
Anthony bao nhiéu tuéi? (Anthony nhé hon 100 tuéi)
Huréng dan

Taco: 2016 =2x2x2Xx2x2X3Xx3X7=2x3)x(2x3)Ix(2x2x2xX7)=
6 X6 X56

Vay Anthony 56 tudi
Pap sb: 56
Question 12:
When M divided by 4 the remainder is 3.
When M divided by 9 the remainder is 8.
When M divided by 36 the remainder is ...
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Khi M chia cho 4 sé dur la 3. Khi M chia cho 9 s6 du la 8. Khi M chia cho 36, s6
duwla: ...
Hudng dan
Ta c6: M chia cho 4 du 3, chia cho 9 du 8 nén M + 1 chia hét cho ca 4
va 9. Suy ra M + 1 chia hét cho 36.
Vay M chia cho 36 du: 36 — 1 =35
Answer: 35
Question 13: 16 biscuit packs weight 4 kilograms. How many grams is the weight

of a biscuit packs?
16 gbi banh quy nang 4 kg. Trong liwong cua mot goi banh quy la bao nhiéu
gram?
Huéng dan: Doi: 4kg = 4000g

Mot goi banh quy nang la: 4000 : 16 = 250 (g)
Answer: 250
Question 14: 27 x 29+ 29 x ... + 46 x 71 = 4600. The missing number is ...
Sé con thiéu la: ...
Huéng dan

TacO: 4600 =46 x 100 =46 x (71 +29) =46 X 71 + 46 x 29

=46 X 71+29%x (27 +19) =46 x 71 +29x27+29x19

Vay s con thiéu 12 19
Answer: 19
Question 15: An even number M is divisible by 5 if the last digit of M is ...
Mgt sé chan M chia hét cho 5 thi chiz sé tan cing ciia M la: ...
Hudng dan

M chia hét cho 5 thi M ¢ tan cing 1a 0 hoac 5 ma M chin nén M c6 tan
cing bang 0
Answer: 0
Question 16: Betty has 25 marbles. Andrew has 7 marbles more than Carl. Carl
has 9 marbles less than Betty. How many marbles does Andrew have?
Betty ¢ 25 vién bi. Andrew c6 nhiéu hon Carl 7 vién bi. Carl cé it hon Betty 9
vién bi. Hoi Andrew c6 bao nhiéu vién bi?
Hudéng dan

Carl c6 sb vién bi 1a: 25 — 9 = 16 (vién)

Andrew c6 s vién bi 1a: 16 + 7 = 23 (vién)
Answer: 23
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Question 17: Calculate: Tinh: 1350 : 45 = ... Answer: 30
Question 18: Calculate: Tinh: 3640 : 14 = ... Answer: 260
Question 19: Convert: Péi: 4km? = ...m% Answer; 4000000
Question 20: Find the value of x such that

Tim gia tri cia x biét rang: 81420 : x = 345

Hudng dan
81420 : x = 345.
X = 81420 : 345
X =236
Answer: 236

Question 21; If = = L thenx = ...
7 63

Hudng dan

, X 45 45:9
Taco:==—=—=
7 63 639

.Vayx=5

N

Answer: 5
Question 22: Jane buys 22 candies for three children, Anna, Mary and Peter.
Anna eats twice as many candies as Mary. Peter eats more candies than Mary but
less than Anna. How many candies does Peter eat?
Jane mua 22 vién keo cho ba dira tré, Anna, Mary va Peter. Anna dn gdp déi sé
keo nhw Mary. Peter dn nhiéu keo hon Mary nhung it hon Anna. Peter dn bao
nhiéu keo?
Hudng dan
Theo dé bai ta c¢6 so d6 sau:

S6 keo Mary da an 1a; |---------- |

S6 keo Anna da an 1a: |---------- |---------- | 22 vién keo

S6 keo Peter da an 1a: |---------- |----|
Téng s phan bang nhau 1a: 1 + 2 + 1 = 4 (phan)
Tac6:22:4=5(du?2)
Suy ra: 1 phan bang nhau tuong tng véi s6 keo 1a: 5 vién
Vay: S keo Peter d an 1a: 5 + 2 =7 (vién)
Answer: 7
Question 23: Katie has 300 cakes. She gives 12 of them to each of five her
friends. How many cakes are left over?
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Katie ¢ 300 cai banh. Cd dy cho 5 nguoi ban cia ¢d dy, méi ban 12 céi. Héi co
dy con lgi bao nhiéu cai banh?
Hudng dan

S6 banh Katie da cho di 1a: 12 x 5 = 60 (cai)

S6 banh Katie con lai 1a: 300 — 60 = 240 (céi)
Answer: 240
Question 24: One pack of pencils has fifteen pencils. Four other packs have
twenty pencils each. What is the total pencils in these five packs?
Mgt hép bt chi ¢d 15 cai but chi. Bon hép khac mai hép c6 20 céi bat chi. Hoi
Téng sé but chi trong 5 hép 1a bao nhiéu cai?
Huéng dan

Hop tha nhét c6 sé bt chi 1a: 15 (céi)

4 hop con lai c6 sé bat chi 1a: 20 x 4 = 80 (céi)

Tong s but chi c6 trong 5 hop la: 15 + 80 = 95 (cai)
Answer: 95
Question 25: The 14 people at a party are 7 couples. Each man shakes hands with
everyone except his own wife. No two women shake hands with each other. What
Is the total number of handshakes among these 14 peoples?
14 ngwoi trong mét budi tiéc 1a 7 cap. Méi nguwoi dan 6ng bat tay véi mét nguoi
khong phdi vo anh ta. Khong c6 hai nguwoi phu nit ndo bat tay véi nhau. Héi tong
c6 tat ca bao nhiéu cai bt tay cia 14 nguwoi do?
Hudng dan

Mdi ngudi dan éng s& bat tay véi 6 ngudi phu nit vi anh ta khong bat tay vo
minh. Suy ra tong céi bat tay cua dan ong véi phu nir 12: 6 x 7 = 42 (céi)

Mdi ngudi dan éng s& bat tay véi 6 nguoi con lai. SO céi bat tay gitra nhitng
nguoi dan 6ng véi nhau la: 7 x 6 : 2 = 21 (cai)

Tong sb cai bat tay 1a: 42 + 21 = 63 (céai)
Answer: 63
Question 26: The average of 27 and 69 is... Trung binh cgng Cua 27 va 69 la....
Huéng dan

Trung binh cong cta 27 va 69 la: (27 + 69) : 2 =48
Answer: 48
Question 27: The number of fractions % such that m + n=2016 is...
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S phan sg =~ biét ring m + n = 2016 la..

Hudéng dan
Taco: 2016 =2016 +0=2015+1=2014+2=...=1+2015=0+2016
Vi n 1a miu sb nén n phai khéc 0.
Vay cacgiatrictianthoamanlal,?2, 3, ...., 2016.
Vay s6 phan sb thoa man diéu kién 1a: 2016 — 1 + 1 = 2016 (s6)
Answer: 2016
Question 28: The pages of a book are consecutively numbered from 1 to N. There
are 636 digits are there in this numbering. The value of N is ...
Céc trang cua mét cudn sach 1a cac sé lién tiép tir 7 @én N. C6 636 chi so trong
cac so nay. Gia tri cia N 1a:
Huéng dan
Tir trang 1 dén trang 9 ¢6 s6 chir s6 1a: 9 (chit s6)
Tir trang 10 dén trang 99 c6 s6 s hang 1a: 99 - 10 + 1 = 90 (s6 hang). Suy
ra: S6 chir s6 1a: 90 x 2 = 180 (chi s6)
S4 chit s6 con lai 1a: 636 - 9 - 180 = 447 (chit sb)
S6 trang twong g Voi 447 chit s6 1a: 447 : 3 = 149 (trang)
Giatri ciaa N 1a: 9 + 90 + 149 = 248 (trang)
Answer: 248
Question 29: The perimeter of a rectangular garden is 120m. Its length is 40m.
Find its width?
Chu vi ciza mét manh vieon hinh chiz nhdt 1a: 120m. Chiéu dai mank vieon 1a 40m.
Tim chiéu réng cua manh vieon?
Hudéng dan
Chiéu rong hinh chit nhat Ia: 120 : 2 - 40 = 20 (m)
Answer: 20
Question 30: The sum of all 3 - digit numbers that are greater than 156 is...
Téng cua tat cd cac sé ¢6 3 chir so lén hon 156 la......
Huong dan
Céc s6 ¢6 3 chit s6 16n hon 156 1a: 156, 157, ..., 999.
S6 s6 hang 1a: 999 — 157 + 1 = 843 (s6)
Tong cua tat ca cac s6 c6 3 chir s6 16n hon 156 1a:
(157 +999) x 843 : 2 = 487254
Answer: 487254
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Question 31: The sum of all natural numbers that are smaller than 500 and
divisible by 5 is...
Téng cua tat cd cac sé tw nhién nhé hon 500 va chia hét cho 5 1a ...
Hudng dan

Céc s6 nho hon 500 va chia hét cho 5 1a: 0; 5; 10; ....; 495

Tong cua tat ca cac s6 nho hon 500 va chia hét cho 5 Ia:

(0+495) x [(495—-0]:5+1]:2=24750

Answer: 24750
Question 32: The sum of two numbers is 124 and their difference is 36. What is
the value of the larger number?
Téng cua hai so 14 124 va hiéu cia ching 1a 36. Gia tri cua sé Ién 1a bao nhiéu?
Hudng dan

S6 16n 1a; (124 +36) : 2 =80
Answer: 80
Question 33: The weight of green box is four times the weight of red box. Green

box is 9kg heavier than red box. The weight of green box is ...kg?
Hép xanh 14 cay nang gap 4 lan hép dé. Hop xanh 1 cay ning hon hép dé 9kg.
Hop xanh 14 cay nang la ... ... kg.
Hudéng dan
Theo dé bai ta c6 so do:
Hop do: |----------- | 9kg
Hop xanh:  [----------- |=mmmmmme |---mmmmmee |--mmmmmmee |
Hiéu s6 phan bing nhau 1a: 4 - 1 = 3 (phan)
Cai hop mau xanh la cay can nang la: 9 : 3 x4 =12 (kg)
Answer: 12
Question 34: There are ... five - digit numbers. C6 ......sé ¢6 5 chir sd.
Hudéng dan
S6 céc s6 €6 5 chir s6 1a: 99999 - 10000 + 1 = 90000 (s6)
Answer: 90000
Question 35: Twenty cups of coffee cost $40. Jane has to pay $... for thirty six
such cups of coffe?
20 Coc ca phé gid 40 dé la. Jane phditra .....do la cho 36 coc ca phé?
Huéng dan
Giatién 1 coc ca phé 1a: 40: 20 = 2 ($)
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S6 tién Jane phai tra 12: 36 x 2 = 72 (3$)
Answer: 72
Question 36: Using each of the digits 2, 3, 5 and 6 exactly once, form two 2 -
digit number. What is the difference between the largest possible product and the
smallest possible product of two such numbers?
Si dung cac chiz sé 2, 3, 5 va 6 chinh xac 1 lan, tao thanh so ¢d 2 chir sé. Hiéu
giira tich 1on c6 thé va tich nhé nhdt cé thé 1a?
Hudng dan

Tich I6n nhat thi hai sé d6 16n nhat c6 thé: 53 va 62 hoic 52 va 63.

Tich nho nhat thi hai s6 d6 nho nhat c6 thé: 25 va 36 hoic 26 va 35.

Ta cO: 53 x 62 = 3286 > 52 x 63 = 3276

25 x 36 =900 <910

Vay hiéu can tim 1a: 3286 — 900 = 2386
Answer: 2386
Question 37: Which of following numbers is not divisible by 3?
Sé nao duéi day khéng chia hét cho 3?

273, 468, 587, 960.
Hudng dan
Ta co: 5+ 8 + 7 =20. Suy ra: S6 587 khong chia hét cho 3
Answer: 587

Question 38: A boy standing upside down saw in a mirror a girl wearing a shirt
with a number as shown below. What is the actual number on the girl’s shirt?
MGt cdu bé ding Ion nguwoc(trong cdy chuai) nhin thdy trong gwong mét cd gai
méc &0 ¢0 S6 nhw hinh dudi day. Con s6 thuc té trén do so mi nit 1a gi?

aif=

a/ 902 b/ 506 ¢/ 509 d/ 605
Hudéng dan

Do ban trai tréng cay chudi cho nén sé & trén do cua ban nit bi 1at nguoc. S6
dang 1a 605
Chond
Question 39: A Physical lab lasts one hour. What fraction of the lab is completed
35 minutes after it begins?
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Mgt phong thi nghiém vt 1y kéo dai mét gio. Phan sé nao cia phong thi nghiém
duwoc hodn thanh 35 phat sau khi n6 bdr dau?

al 1 b/ = of = a/ =
35 12 12
Hudéng dan
Mot gio ¢6 60 phat.
Ta co: B_Z
60 12
Chonc

Question 40: A store sells three different gift items costing 20 dollars, 40 dollars
and 70 dollars, and three kinds of gift boxes costing 30 dollars, 50 dollars and 80
dollars. Helen buys one gift item and a gift box. How many different values can
her total bill be?

Mgt cura hang ban ba mat hang qua tang khac nhau cé gia 20 do la, 40 dé la va
70 do la, va ba logi hop qua tang cé gia 30 do la, 50 doé la va 80 dé la. Helen mua
mgt mén qua va mét hgp qua. Tong héa don cia cb dy cb thé b bao nhiéu gia tri
khac nhau?

Hudng dan

Vi Helen mua 1 qua ting va 1 hop qua cho nén héa don xuat ra s& 13 tng gia tién
cua hai mén hang trén. Mdi 1 mon qua cd 3 cach chon hop qua. Ta c6 bang gia tri
sau:

Gia tién ($) Gia tién ($) Gia tién (8)
M6n qua 20 40 70
Hop qua 30 | 50 | 80 [ 30 | 50 | 80 | 30 | 50 | 80
Tong tién 50 | 70 [ 100 | 70 | 90 | 120 | 70 | 120 | 150
C6 6 gia tri tién khac nhau 1a: 50; 70; 90; 100; 120; 150.

Answer: 6
Question 41: Anh Vien was one of 18 athletes in the swimming team. They are
numbered from 1 to 18. The sum of the numbers of the other 17 athletes is 155.
What is Anh Vien number?
Anh Vién 1a mét trong 18 vdn déng vién trong ddi boi. Chiing dwoc danh s6 tir 1
dén 18. Téng so cua 17 védn dong vién khac 1a 155. Sé cia Anh Vién 1a gi?
Hudng dan

Tong tat ca cac s6 4o cua 18 van dong vién la: (1 + 18) x 18:2 =171
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S6 4o cua Anh Vién 1a: 171 — 155 = 16
Answer: 16
Question 42: Joseph choose a whole number and multiplied it by nine. Which of
the following numbers could not be his answer?
Joseph chon mét sé nguyén va nhan n véi chin. Sé ndo sau ddy khéng thé 1 cau
tra loi cua anh dy?

al 22203 b/ 35361 c/ 1998 d/ 36363
Hudng dan

S6 nhan véi 9 dugc két qua thi két qua dé chia hét cho 9.
Xét 4 dap an:

22203 ¢c0:2+2+2+0+3=9chiacho9

35361 ¢c6:3+5+3+6+1=18chiacho9

1998 c6:1+9+9+8=27chiacho9

36363 cO: 3+ 6 + 3 + 6 + 3 = 21 khéng chia hét cho 9

Vay s6 36363 khong thé 1a cau tra 10i caa anh ay
Answer: 36363 — Chon d
Question 43: One of the following two - digit number is attached at the and of
2016 to make a six - digit number. Which number is attached if six - digit number
is divisible by 3, 4 and 7?
Mgt trong hai s¢ c6 hai chit sé sau dwoc dinh kém vao va ndm 2016 dé tao sé co
sau chir s6. Sé ndo dwoc dinh kém néu sé ¢b sau chir sé chia hét cho 3,4 va 7?

a/ 36 b/ 12 c/ 84 d/ 48
Hudng dan

Ta thay 2016 chia hét cho ca 3, 4 va 7 nén suy ra dé s6 ¢6 6 chir s6 do chia
hét cho 3, 4 va 7 thi s6 dinh kém véi 2016 ciing phai chia hét cho 3,4 va 7.

Nhan thay: ca 4 sb déu chia hét cho 3 va 4 va 36, 12, 48 khong chia hét cho
7: chi cd 84 chia hét cho 7. Suy ra sé phai tim la 84.
Answer: 84
Question 44: Peter is taller than Edward but shorter than Jacob. Charlie is taller
than John but shorter than Peter. Who is the tallest?
Peter cao hon Edward nhung thap hon Jacob. Charlie cao hon John nhung thap
hon Peter. Ai cao nhat?
Huéng dan
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Vi Charlie thip hon Peter ma Peter thap hon Jacob. Suy ra: Nguoi cao nhét
la Jacob
Answer: Jacob.

Question 45: The area of this parallelogram is ...cm’,

Dién tich cua hinh binh hanh la ... ... ...
Tem

4cm

a/ 20 b/ 48 c/ 35 d/ 28
Hudng dan

Dién tich hinh binh hanh 13: 7 x 4 =28 (cm?)
Chon d
Question 46: The figure below show four squares of equal size. The shaded part
of each is removed. Of the resulting figures, whole perimeter is equal to the
perimeter of the uncut square?
Hinh duwéi ddy cho thay bén hinh vuéng cé kich thieéc bang nhau. Phan bong mo
cua moi duwoc logi bé. Trong cdc hinh déap én, hinh ndo ¢é chu vi ¢6 bang chu Vi
cia hinh vuéng khéng cat?

V] La ”J N

Y — b/ ¢/ d/
Chonc
Question 47: The following figures are formed by identical squares. Which figure
has the smallest perimeter?
Cdc hinh sau ddy dwoc hinh thanh béi cac 6 vudng giong hét nhau. Hinh nao cé
chu vi nhé nhat?

al o/ | ‘ 0/@ S - —

Huéng dan
Coi canh hinh vudng nhoé 1a 1 don vi do do dai thi
a/ Chu vi =2 x 4 =8 (dv do do dai)
b/Chuvi=1+1+1+1+1+1+1+3=10(dv do do dai)
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¢/Chuvi=3+1+2+1+1+2=10(dv do do dai)

d/Chuvi=2+1+1+14+2+1+1+1=10(dvdo do dai)

Vi 8 < 10 nén hinh a c6 chu vi nho nhat
Chon a
Question 48: The total weight of 3 apples is equal to that of 4 bananas, and the
total weight of 5 bananas is equal to that of 6 oranges. How many apples have the
same total weight as 24 oranges?
Tong trong lwong cua 3 qud tao bang véi 4 qua chudi va téng trong Lwong cia 5
qud chudi bang véi 6 qua cam. C6 bao nhiéu qud téo cd tong trong lwong bang 24
qua cam?

a/ 16 b/ 15 c/ 12 d/ 18
Hudng dan

Vi trong luong cua 5 qua chudi bang trong lugng caa 6 qua cam, suy ra:
Trong lugng cua 24 qua cam bang trong lugng cua sé qua chudi la:

5 X 24 : 6 = 20 (qua chubi)
Vi trong luong cua 3 qua tao bang trong lwong cua 4 qua chudi, suy ra:
Trong luong cua 20 qua chudi bang trong luong cia s6 qua téo 1a:
3x20:4 =15 (qua téo)

Vay15 qua téo co trong luong bang 24 qua cam
Chonb
Question 49: There are four kids. If we compute the total ages of three of them at
a time, the sums are 21, 24, 30 and 27 respectively. What is the difference in age
between the oldest and the youngers among these four kids?
Cé 4 dira tré. Néu chiing i tinh tong sé tusi cia 3 trong sé chiing cling mét thoi
gian thi dwoc C&c tong lan ot 14: 21, 24, 30 va 27 tudi. Hiéu s tudi gitra dira
l6n nhdt va dira nhé nhdt trong 4 diva 1a bao nhiéu?
Hudéng dan
Cach 1: Hiéu tudi dua tré 16n nhat va nho nhat trong 4 dua tré 1a: 30 - 21 = 9 (tudi)
Cach 2: Tong sb tudi cua 4 dua 1a: (21 + 24 + 30 + 27) : 3 = 34 (tudi)

Tudi cua ban nho nhat 1a: 34 — 30 = 4 (tudi) (Ban nho tudi nhat thi tong 3
ban kia phai 16n nhat.)

Tuoi cia ban 16n nhat 1a: 34 — 21 = 13 (tui) (Ban lén tudi nhat thi tong 3
ban kia phai nho nhat).

Vay hiéu sb tudi gitta ban 16n nhat va nho nhat 1a: 13 — 4 = 9 (tudi)
Answer: 9
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Question 50: We want to cut a 28m wire into shorter wires of length 4m. We can
only cut one piece of stick at a time. How many cuts are required?

Chang tdi mudn cat ddy 28m thanh cdc doan day ngdn hon dai 4m. Chiing t6i chi
c6 thé cat mot doan tai mét lan cat. Haéi can cat bao nhiéu lan?

al 4 b/ 7 c/5 d/ 6
Hudng dan

S6 lan cat 1a: 28 : 4 - 1 = 6 (lan)
Chond

Question 51: What fraction matches the following image?

al = b/ 2 c/ 2 d/2
2 5 3 6
Chonb
Question 52: What is the value ofg — g? Answer: 1/6
al = b/ 2 o/ > a2
6 6 6 6

Question 53: What is this fraction in the simplest terms?
Phan sé nao 1a phan sé toi gidn cia phan sé’% ?

27 27:9 3
36 36:9 4

al 2 bl 3 c/2 drd

3 4 4 9

Chonb

Question 54: What number must be replace theDin the mathematical sentence

7 8
— = - to make a correct sentence?

£ LA A 27 8 ;v . 4 ,
S0 nao thay thé o trong dé — = 0 la mot cau dung?

a/ 35 b/ 36 c/ 55 d/ 56
Hudng dan
;. 8 8:8 1 1X7 7
Taco —=—=-=—=—

40 40:8 5 5x7 35
Chon a
Question 55: When 76 is divisible by a number, the remainder is 6. Which of
following can not the value of that number?
Khi 76 chia cho mét s6,¢6 S6 dur la 6. S6 d6 khdng thé nhdn gid tri ndo dudi ddy?
al 7 b/ 5 c/ 10 d/ 14
Hudng dan
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S6 du 1udn nhoé hon sb chia. 5 < 6 nén s 5 khong thé 1a sb chia.

Chonb
Question 56: Which list of numbers is ordered from least to greatest?
3 213
123’574
Answer: l;3;3;E
5°12°3° 4
Question 57: Which of the following lists the fractions %;%;116 ;% and% in order
from least to greatest?
al-<iciciocl bli<i<icl<l
9 9 8 7 16 9 8 9 16 7

2 2
oficiclot 2 dlclc2c2 2
9 16 7

9 8
Chonb
Question 58: Which of the statements below is not always true?
Cau nao dudoi day khong dung?
a/ One of any three consecutive positive integers must be divisible by 3.
Mgt trong ba sé nguyén dwong lién tiép phdi chia hét cho 3.
b/ The sum of several even numbers is an even number.
Téng ciia mét sé sé chan 1a mét sé chan.
¢/ The sum of several odd numbers is an odd number.
Téng ciia mot sé sé 1é la mgt sé lé. Sai. Vidu: 1+ 3 =4, 4146 chin
d/ The sum of an odd number and an even number is an odd number.
Téng ciia mét sé 1é va mét sé chan 1a mét so lé.

Question 59: A pillow costs 20 dollars. Sophia has to pay ......... dollar for 12 such
pillows.

M0t chiéc goi gid 20 dé la. Sophia phdi trd ......... dé la cho 12 chiéc goi nhw vdy.
Huéng dan:

12 chiéc gdi phai tra s6 $ 1a: 20 x 12 =240 ($)
Question 60: How many hours are in % of two days?
Answer: .......... hours.

% cua hai ngay 1a bao nhiéu gio?
Hudng dan:

Hai ngay c6 so gio la: 24 x 2 = 48 (gi0)

~otia 2 ngay la: 48 : 4= 12 (gio)
bien 1
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